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A number, when divided b ‘I@ leaves a remainder of
(flzz If it is divided by 17) it will leave a remainder of :

T 1 119 § 90 & W Y 19 @l g1 I I
& &l 17 9 9 fn Sg, @ 99 '’
, %2

(1)19\L @ (3) 7
”r(’ )@Qf x{t\‘fi—%l?

1

_0 +.2
P19t = &
K

| (Reme Joi-3)

———
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A number when divided by 5 leaves a remainder 3.
What is the remainder when the square of the same
number is divided by 5 ?

ol T &1 5 9 9 °H W 3|9 war 71 afe 36 gEem
% 91l 5 9 9 fn S|, @ 9" = s ?

(1) 1 (2) 2 3)3 L4 4
)
3

—~— =
P

15
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q@ When two numbers are separately divided by 33, the

&\’(/%’03 remainders are 21 and 28 respectively. If the sum of the

LA @ two numbers is divided by 33, the remainder will be
> T GEART 33 W STH-3TET 9T 3+ W 99 FHHI: 21
qUT 28 U BId &1 IS 39 <M Tt & AR i 33
= @ am fen S, @ 9 W @

(1) 10 (2) 12 (3) 14 \J{)‘IG
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When an integer K is divided by@ the remainder is
1, and when[K + ﬂis divided by 5, the remainder is

0. Of the following, a possible value of K is
wio foRdt quies K o1 3 9 90 fSon <far @t 3%t 1
%aﬂIK+1ﬁ5ﬁﬂméﬁmﬂwoélﬁmﬁ@K

hl Uoh 99 Iﬂ:[%

(1)\75_,{ @sg \/3 64
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A number x when divided by 289 leaves 18 as the
remainder. The same number when divided by 17
leaves y as a remainder. The value of y is

w u@@ﬁ 289 ¥ fawifsd & W 18 I =l 2
@ fawfeg 3 Wy 99 a9 By &

o ‘%
3) 3 (4) 1
R =0 +1 (
N l#j
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When n is divided by 6, the remainder is 4. When 2n
IS divided by 6, the remainder is

S& n & 6§ faufsa foman sman @, o 9wwa 4 o @)
IRIAR, 5@ 2n & 6 § fawifsa fean sme, @ sowa
feRerT BIm?

(1) 2 (2) O (3) 4 (4) 1
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If * is a digit such that 5824~ is divisible by 11, then
* equals :

afe * T W 3% T, FSEH FWO 5824* + 11 ¥
faufsra fopam ST Okar @ a1 * SH-91 37 2?2
(1) 2 (2) 3 (3) 5 (4) 6
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A 4-digit number is formed by repeating a 2-digit num-
ber such as 2525, 3232, etc. Any number of this
form is always exactly divisible by :

Teh 2-3AHhE & Hl T d9) WI-T1Y fag T T
4-3HE TEA 9 T ®; TAT 2525, 3232, MR =W
qhR St i off Tea |ed TR wen 9 qoiaan faunfsa
ghf 2

1) 7 (2) 11

(3) 13 (4) Smallest 3-digit prime number
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How many digits in all are required to write numbers
from 1 to 507
1 9§ 50 T i &AW @ | set fohde 3okl i STavdehd]

Tl ?

(1) 100 (2) 92 (3) 91 (4) 50




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A number of boys raised I 400 for a famine relief
fund, each boy giving as many 25 paise coins as
there were boys. The number of boys was :

FS ASHI 1 AP Ted He o [ 400 TII ThiAa
fFu | T ek 7 25 U0 & sad fages fiu fSioH
Fcl aSch o | TTSohl ol 9&Al of

(1) 40 (2) 16 (3) 20 (4) 100
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In a farm there are cows and hens. If heads are count-
ed they are 180, if legs are counted they are 420.
The number of cows in the farm is

T B | T AR gifar €1 afs far i S @t 180 ¥
gfs 2 i a1 420 € | 1 | T Y el Hean fohat 872
(1) 130 (2) 150 (3) 50 (4) 30
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The digit in units place of the product 81 x 82 x 83

x ... x 89 is
81 x 82 x 83 x ... x 89 oh TUH®A H Tz oh HIY hl
3ish T BM?

(1) 0 (2) 2 (3) 6 (4) 8
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Find the remiander when (3)'** is divided by

162.

SE(3)12 HT 162 °§ 90 fha S d IR
g

(@) 1 (b) 81

(c) 150 (d) 100
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The vulgar fraction of 93939 is:
03939 1 AR foe 2

15 11 17 13
(1) 33 (2) 39 (3) 39 (4) 33
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What is the Arithmetic mean of the first 'n’ natural
numbers 7

YU 'n’ Gihideh GEARA 1 HHIAL HIET F © ?

nn+1) n+1
M @

2
@ oty @) 2(n + 1)

2
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The decimal fraction 2.349 is equal to

o329 H1 WHaE f9=1 fFosh TR 872

(1) 2326 /999 (2) 2326/990
(3) 2347/999 (4) 2347/990




L B L |

15
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The mean of the given data: 12, 51, 22, 42, 32, 18 is
[au U Se cblﬂT%H% 12, 51, 22. 42, 32. 18

28.5

29.5

27.5

31.5
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Two cube each of volume 125 cm? are joined end to end. Find the total surface

‘area resulting cuboid.
125 YHP & Gl g 8 I YD Dl Y= I 3{d dob Silsl Sldl g | IRUMHEET g1y

BT D YSIY &Ahd A1d HIfSTT|

125 cm?
250 cm?
25 cm?

1250 cm?
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In an examination, a student scored 35 marks and he fails by 40 marks. If the
‘pass percentage is 33.33%, then what is the difference between pass marks
and maximum marks?

Uh WRIE H U B - 35 3 I U 3R I8 40 3feb| I 10l g 74| gl
II01 Ufa=Id 33.33% &, dl ItlUl 3 3R SHIHdH 3idh & did 3R o1 g2

75

150

225

165
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A sum of money becomes 2 times in 4 years at Compound interest then how
‘many times will it become in 14 years?

Udh ¢RI dehdle SO UR 4 98 H GRIHI gl Sifdl g dl 14 981 § fabaH 11 g2

84/2
62

272
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A and B can do a work in 5 days, B and C can do the same work in 6 days and
'C and A can do the work in 10 days. What time does B require to complete the
work?

A 3R B U 14 @l 5 &4 T DR dbd o, B 3R C Il DRI Bl 6 fad T I dbd &

3R C 3R A, 10 &I H PR DR Fhd o | BT G DR & (QIU B Pl [l 98 Dl

3{TaLGhdl §?
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fA:B=2:3,B:C=2:4and C:D=2:5,then A:D is equal to:

gcA:-B=2:3B:C=2:43RC:D=2:5¢ dlA:D foad e &l
3:5

2:45
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A shopkeeper fixes the marked price of an item 45% above its cost price. The
‘percentage of discount allowed to gain 16% is

U GPHaR UPh ¥ &1 Sifdbd Hed 39D hd Hed I 45% 3D a0 HRadl ol 16%
ATH YT 63 & U B Uld=Id 1 g2

18%

20%

22%

24%
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Two trains are going from Bangalore to Chennai with a speed of 80km/hr and
100km/hr. If the train with slower speed starts 1 hour before then find the time
taken by the second train to catch the 1st train.

&l oA §TQR I 995 80 fdHI/Eer 3R 100 fdbHi/Eer &f 71fd 3 ©T X! o | dfc €]
T Tt ¢ 1 9¢ Ugd I URY DRl g, d QORI ¢ gRT gl ¢ &l ghe H
feTaT 1 qH J1d DI |

6 hours

5 hours

4 hours

8 hours
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The average weight of 8 students increased by 1.5 kg. If a student whose
‘weight is 65 kg is replaced by a new student, what could be the weight of the
new student ?

8 Wl & 3{IFd IoH 1.5 U1 @l i g3 | Alc U ©H [STqPbT aoi 65 fbi 3,
TP U S ¢RI Ufa=A1d fhar Srdr o, df 0 @13 & 994 9497 gl Ihdl &2
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If Aand B are partners in a business. They invest in the ratio 3 : 7, at the end of
'8 months B withdraws all his investment. If they receive profits in the ratio of 9 :
14, then find how long A’s investment was used?

A 3R B U A H UIIGR ¢ 1d 3: 7 & 34Id H (Hd= dd §, 8 Held & 3id d
B 30T IRT (9= (AT ddi g1 afc 3¢ 9 : 14 & 3-id H drH Ui gidl g, dl A
®[ 197 fh - I7g o Q1T U1 Ig ATd DI |

3 months

6 months

9 months

12 months
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The average of 9 integers is found to be 11. But after the calculation, it was
detected that, by mistake, the integer 33 was copied as 42, while calculating

the average. After the due correction 1s made, the new average will be

o gulies STl &1 HTd 11 U §34T | TfceI 701 & 16 98 91 Iadl §
S TTad! ° QUNid 33 & R WX 42 o o/ a1 o1 | 3 & 316 & & 91, =41

G BT
a)
b) 5
c) o

d) 0.
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300 grams of sugar solution has 40% of sugar in it.
How much sugar should be added to make it 50% in
the solution?

300 U =T & il § 40% =11 €1 3HH fhaAT = SR
freg i =ifeq S99 98 39 ©iel &1 50% & Y?
(1) 40 gram / UH (2) 10 gram / UH

(3) 60 gram / UH (4) 80 gram / UM
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A starts a business with Rs. 21,000 and after some time; B joins his with a
‘capital of Rs. 36000. After how many months; B joins if the profit is distributed in
equal Ratio at the end of the year.

A 21,000 39T & Y U I Y= DHRdl ¢ 3R $ I d1G; B 36000 30
Bl Usil & A1y I O[S SIdl o | Afc Iy o 3fd § Ay 9 S=urd | [aid fobar
SITdT © dl [ BIfoTe B fbd- Al |Ta RMd gidl 872

5 months

6 months

7 months

8 months
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The price of two articles are in the ratio of 5 : 6 respectively. The price of first
article is increased by 30% and the price of second article is decreased by X%.
If the new ratio is 13 : 11 respectively, then what is the value of X?

Gl a3 BT U HHT: 5 : 6 & Urd H g1 Ugdll 9k & Hed H 30% @i dia 3R
ORI avg & G H X% I HHI gldl g | dfc 491 34Urd v 13 : 11 8, dl X Bl

I &1 572
a) 0
b) 33
c) 11

d) 2.5
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Mohan covers a distance of 187 km at the speed of S km/hr. If Mohan increases
his speed by 6 km/hr, then he takes 6 hours less. What is the value of S?

w1 187 foodll 1 ¥t S fobeil/eier ®f 7 & T Par g1 afe AlgT oot id H 6
[oHl/eer @I gl Bl , <l 98 6 U HH Y dl g1 S DI HF H1 g2

a) > km/hr
b) +kmir
C) km/hr

d) 3 km/hr




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

What will be the least Common Multiple of 22 x 3° x 73 and 2% x 3* x 71?2

22 x 3% x 73 3{R 24 x 3% x 71 D] AYTH GHYTY HT GIIT?

a) w34 x 71
b) 'x 39 x 7%
C) 'x36x74

d) 5.8
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By how much percent must Ashish mark his goods above its cost price so that
by giving 15% discount he may earn a profit of 20%7

TR 1 U AT BT T, hd oI I fbd- ufa=rd sifde sifdbd H=A1 91gy,
ST T 15% Bl @e & & dic Ui 3™ 20% BT d1Y 3ffoid gl?

30.92%

41.17%

37.35%

44 14%
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The HCF and LCM of two numbers are 13 and 455
respectively. If one of the number lies between 75
and 125, then, that number is:

R FTH 9. 139 o 9. 4552 | I 399 § TH

& 75 3R 125 % o= o fiod &, df 98 9 7 © :
(1) 78 (2) 91 (3) 104  (4) 117
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